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01 AFR2r2lH| 22,140 27,580 A5,440| O 30| Mzl B =aR
OISH EAlACt 200
NZNPERIZIC ALY 5.880 5,880
NEX2YAYs AMsY 1,400 2,800
DERE RN =Y E= 7.560 12,600
NeI2AFAKYZOE MG 5,600 5,600
DRSS 700 700
AIREZ20) 1,000
02 2= 3,600 3,600 0
DEXZEHOIX SX22IH 3,600 3,600
03 A2 70,000 70,000 0
NHSEH(ZNERNSSE0E S) 29 30,000 30,000
NEXLFARIEY TS 10,000 10,000
NEXIAZAS 0 20,000 20,000
1NEU=:3 10,000 10,000
203 ALEAY| 8,000 8,000 0
RREESSEEESST 8,000 8,000 0
DEPUPIER=ER= RS 8,000 8,000
303 A= 2,000 2,000 0
01 Za2 2,000 2,000 0
DNEXRS2AAIA 2,000 2,000
B mET=EYNE=r 17,491 19.117|  ~1,6% 155160
201 Ypr2y| 2,040 9,040  A7,000|0O HEHsEAR BN
Slols| Elg|, i 200
01 At=2r2lt| 2,040 2,040 0
XY SUYNS LA 480 480}
NELNS 840 S 240 240
NAIREZ 20 200 200
NEESNRSAANS 39 ALY 1,120 1,120
203 AR =Y 700 700 0
03 AR ARFAIY] 700 700 0
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X L5 . =
SA - - SRI(E) - HRAR - BaS of et Go% | wmsz | masd) A (MR
NESUIEBAIY ARFX 700 700
301 LEt2d= 14,751 9,377 5,374| O ANSIS2CRISAT ZM
10 AlRISRRRAEAFT 14,751 9,377 5,374
DEE 12,000 6.626
DEREL 1,764 1,764
1) WSyl 656 656
1=t 331 331
AXZ2d Je=s 70,346 87,060 216,714
Axzd gddst 70,346 87,060 216,714
X2 gdst X 37.646 50,360 A12.714 61~162
201 L2 3| 31,766 40,980 A9,214| O M2 XLEFF 23
SE0 e S323|
0Es
01 At/ 13,766 16.980| 23,214|O #FE 328 01
ol M &A=g &
2= HE S 2A
NAXZHESE ZHA4-E 3,360 3,360
NAXEA g8 L WS 5,406 4,406
1=0atEE XSS Wi ME 5,000 5,000
03 A2 18,000 14,000 4,000 O KX & 018 &
A I2iH] S B9
DXEXRIC & HAHMEOIE 8H 8) 18,000 14,000
203 HRF&IH| 3,000 3,000 0
03 AIMF=XHSFAIY| 3,000 3,000 0
NAXEH GLFX 3.000 3,000
301 Let2d= 2,880 6,380 A3,500
11 HARHIXIR S 1,080 1,080 0
NAXEH &4, 333 S &4 1,080 1,080
2)= | 80 80
2)&IHHl 2 WSHl S 1,000 1,000
14 JIEI242 1,800 5,300 A3,500| O F=E 22d 0180
[ A Al 2o
1)FAESY XSS W ZAZ 1,800 1,800
FOFOOIA 2 28,660 32,660 4,000 163-164
201 LB AY| 18,500 18,500 0
01 At22teld| 18,500 18,500 0
DFEQIENMARIRE B 14,000 14,000
1)F=0ECMAS D Wil I 1,500 1,500
NFLUEUA E22 M 3,000 3,000
203 JFF=&H| 6,000 10,000 24,000
03 AlRZRHREAI| 6,000 10,000|  £4,000{O ASAl AIREOI0)IL
ARl =& H 1= DA
NERIETTEESS
2H(S) 2242 2
NZELEA A HRFR 6,000 10,000
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S - ZB . S9(32) - KIRAY - BES Of st Ghe | umsz | maEd) A [MEP
301 YBtEAZ 4,160 4,160 0
14 J[EtEAZ 4,160 4,160 0
1)F0IE0AS D (0|2 E) ZAR 720 720
1)Z=RIEO{ 0 A I (A SHFE) 2AL2 720 720
1F0RES olastn 2ZAI2 720 720
1) 012010l AFRI 215 SR 0TH| 2.000 2,000
DIt E 223 MAR 22l 4,040 4,040 0 165~166
201 LBty 3,240 3,240 0
01 AlR22l] 3,240 3,240 0
1)RIZIRIE ME A MORRIS| Ealsgt 2,240 2,240
1)RIZIRIE MA A AlO|92I5| AIREE 2 1,000 1,000
203 AR=Z| 800 800 0
03 Al EXAREAIY 800 800 0
1)2I2tAE - 2R3 PRFA 800 800
NEENEPE 362,146 324,848 37,298
2 43,749 = 43,800
T 318,397| 281,048
S At X 362,146 324,848 37,298
2 43,749 = 43,800
T 318,397| T 281,048
NEASAL E8g XI& 22 594 25,638 A3,044 167~168
=2 11,297 = 12,819
3 11,297 = 12,819
301 YBtEAZ 22,594 25,638 A3,044
=) 11,2971 = 12,819
3 11,297 - 12,819
14 Zlizé;a - 22,594 25,638 A3,044
ﬁ@&/ﬁoAm AFEE2 X2 (2H150%, o 25,634 Oiﬁdzi—ij*wl e
=2 7| 212,819
2 1.207| P 12,819
X2 EALRCIHI0IE X 64,904 61,962 2,942 169
= | = 30,981
2 32452 730,981
101 Q124 64,904 61,962 2,942
= 4| = 30,981
2 34s| 30,981
04 ISR S 64,904 61,962 2,942
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X EAI2CIUIOIE X1 (=HI50%, 64,904 61,962
—H150%)

=) 32,452 = 30,981
3,452 T 30,981

AHRASAIZOUOIE =2 2 285 12,418 12,418 T70~171
101 @I244| 12,418 12,418
04 J1ZtHI2 2R SE+ 12,418 12,418
NRLZALRCIHIOIH £ 10,018 10,018
2) MRS AI2CIUI0IE S& 0| 6,720 6,720
2)XHASAIZCIUIOIE AlZIRIZR4E 3,208 3,298
IV EEE 2,400 2,400

HASAMES K3 234,650 194,750 172174
201 23| 130,350 106,050

01 At2telt] 48,350 53,050 ORI S AL I 28
gral B8 S0l
e 2

1)CIMH| 23,800 24,800
2)AMX S HH 10,000 10,000
2)CIoloi2] M= 12,000 12,000
)X EAL DS MIE 1,000 2,000
)NASA RIEH A 800 800
1)E24| 10,400 13,000
INABAL EBSE ME 10,000 10,000
2)8% S 400 500
1) XF S AR = 5,000 3,000
NAHASANESIHE S A2 3,500 2,500
NXZSAIEIIIEAAE 2 1,000 2,100
NAHASAI2EAE S+ 3,150 3,150
NolEEU M2 MARIY A 1,500 1,500
03 HAH2EH| 82,000 53,000
XIS AIHE 29 4,000 4,000
NEAE Ysta2 8 2 3,000 3,000
1NSSFH JIESA 7,000 1,000
NsUs 29 3,000 2,000
NAESAL G225 38 10,000 10,000
1S AR Breel & 15,000 15,000
DAFSAE L A2 2 4,000 4,000
1S o2 XAASA Z208 XA 10,000 10,000
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B R(3]) - HRAY - BaS il Ao Ghe | umsz | maEd) A [MEP
ESEENEEEEREEE] 720 720
1)K AE SHOIX SXI22lt| 3.600 2,160
3 A0 (Ex=20) 72,484 95,544  ~23,060
=3 72,484 95,544 23,060
=23 72,484 95,544 A23,060| O A B 2a0 |78
e Arezeldl 2
Oit| 2to
201 Ler=2g| 34,612 43,560| 8,948
01 AlR22lH] 34,612 43,560| 18,948
DAIREE L HHIH ADE 0 8.500 9,000
)12 32| 26,112 34,560
202 Oi] 34,272 48,384  ~14,112
01 =L0it] 34,272 48,384 14,112
1)7| 2243101t 34,272 48,334
203 PREAI| 3,600 3,600 0
04 ENSIL2EA| 3,600 3,600 0
1RARYUDRETY| 3,600 3,600
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20238 =SHMI=i M0 &

(oAt P170~171)

SN-E-B-E-S 04l & o rSIE L PN HRE2 BA(SRIAR
S5t HS 5,748,215 5,672,941 75,274
200 HI2I42 4,164,552 4,718,058 553,506
210 ZATH 2+ 4,120,852 4,654,358 533,506
212 ABE4Y 4,120,852 4,654,358 533,506
212-09 JIENE 2 4,120,852 4,654,358 £533,506| oAl e
N2NSIH MSE 5,000 5,000 A2 o] 24t Bies
NANSHIEH 228 100,000 120,000
EE SSHUSHRTA MBS 800 800
1)t 2SUEHRTA MBS 2,352 2,352
NANTOISULHSHEH ABE 1,495,000 2,150,117
ZHSSSHMSHE MBS 325,000 307,365
1)OFBALHERIE S A8 520,000 296,156
OB TXME AB2 1,157,000 1,334,667
NI TZHE AR 260,000 229,835
NEYMODSHUSH MBS 27,300 17,566
N2UCISHHS2 AEE 26,000 19,192
NS BHLTCSHUS2 ABE 33,800 43,937
NUNCSHHS2 AER 28,600 27,371
NYFOSHHS2 MBR 20,000
NZMNSFEDE ABE 20,000 80,000
220 YAIZH 242 8,700 3,700 0
004 I|EL 29l 3,700 3,700 0
224-07 1242 3,700 3,700 0
FYIE B2 29 S 3,000 3,000
)23 SSH0ISERT2 JIEHY 700 700
230 XILHHMMY - 22 40,000 60,000 £20,000
031 TR 40,000 60,000 £20,000
231-01 &3 40,000 60,000 £20,000
OmE 244 22
NRS2AMAL HERIL DY 40,000 60,000
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To.u.2 Ofl &t EI T I HI B S BA(52)AS
1,583,663 954,883 628,780
EREELE 1,109,662 643,816 465,846
EMEESE 1,109,662 643,816 465,846
AN ILX DF£ g_ﬂ
208x3 1,109,662 643,816 465,846 S i) e
ST EEA 64,000 45,000 Bofeli =X X
SAE BHALAE SNRS 7,000 7,000
S5 MEUSNEZL X 245,504 238,376
BEN ALY
HOIHSS  HOIOIMERS 106,858
SRR
EXYH0IEA XD 560, 196 301,665
HOIAER2ATO|ZA X2 126,084 26,775
SSTEESE 474,001 311,067 162,934
SSTEESE 474,001 311,067 162,934
AEZATOIZ
521-01 Al - CHIE XSS 474,001 311,067 162,934 3 i e 2 o
NEs AYBE N 21,750 21,750 SUOHETER
NESE NRIF oYl Xd 22,500 22,500
ST HBAIY 48,000 33,750
SAE BHALAE SRS 3,500 3,500
NEVTHLA B0 X 25,000 25,000
S8 MEBUSNEZN T 122,762 119,168
TSN ALY
HOIFIZSl  HOIOIME RIS 53,429
SRR
20IET DY 29 6,800 6,800
AEEADY 29 11,200 11,200
CEESINIEY: 12,000 12,000
ABRAROIBA X2 120,042 64,642
HOQIAREAR0IBA X 27,018 5,737
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20238 =M=l MsS0ldt &

(0l Aot P291~305, MISAIRMTA P184~243)
)
A - B OR(3) - HRAY - BAS il &t Sae | Hms T
ot =1t 18,229,788 | 20,763,651 | 22,533,863
2 1,109,662 = 643.816
Al 474,001 | Al 311,067
2 16,646, 125| 719,808,768
EE R 4,497,869|  4,040,182| 457,687
Al 44,250 Al 54,250
2 4,453,619| 73,985,932
S3H0lZ JIPAIE 2 3.071.871| 2.649.434| 420,437
Al 44.250( Al 44,250
- 3,027,621| 2,605, 184
siEgER 29 916,416 902,779 13,637 18418
201 Lere | 1,000 1,000 0
01 At=2elt] 1,000 1,000 0
1o ZeSn 29925 aag 700 700
oIS 22 22 204 300 300
203 QREXY| 1,980 1,980 0
RREESSEEESST 1,980 1,980 0
olEuE2 YRR 1,980 1,980
307 2I2H0IA 783,436 719,799 63,637
05 QI2IPlEr2 783,436 719,799 63,637
1)3EUSY e 783,436 719,79
2) eIt 452,423 423,154
2)2e|2g| 217,623 187,073
2)JIEHAl S 113,390 109,572
401 A& HIZ =01 130,000 180,000  A50,000
01 Al&H 130,000 180,000 50,000 | OFEE CHHI AIESAMI
NEIGA NEE JE X 60,000
NS=IIEA HAS HE &X 40,000
1)oIEI G4 BAIXH SAl 30,000
AMWEH0I2T 2 912,877 800,326| 112,551 186-187
201 Lpre ] 65,000 21,000 44,000
01 AlRZielt] 61,000 21,000 40,000 ORI 2 D18 St =
NAWMZH0 22 2L s 700 700 8e
NAWRA0|S2 292 SZ 20 300 300
NAMZH0ISZ B E2] 20,000 20,000
NEWHS0I=2 W2 0198 st=T= HE 40,000
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H - B2 a9i(3) - HRAY - Bas il &t Coe | umsz| w T
03 A2ZEH| 4,000 0 4,000
NS0 T2 4,000
203 24| 1,620 1,620 0
03 AIMF=XHSFAIY| 1,620 1,620 0
NENHE L0 I=2 LRFA 1,620 1,620
307 212t01™ 796,257 732,706 63,551
05 BIZIREZ 796,257 732,706 63,551
NEMHE 0= fE=2Y 796,257 732,706

2) 2124 423,247 394,126
2)2el2a| 232,060 218,890
2)J|E8EAl S 140,950 119,690
401 AlEHIZ 20| 50,000 45,000 5,000
01 AlIEH| 50,000 45,000 5,000
NEMHES0I=2 22 & 20,000
NAWEL0 =2 ZEZ S A 30,000
Nogr AEpgd 29 75,000 75,000 0 188189
201 L2 3| 25,000 25,000 0
01 At=22t2ld| 10,000 10,000 0
NAELIEY Ha 22|2Y 7,300 7,300
123020 52= HAE 2,700 2,700
02 2224l 15,000 15,000 0
NAELEE HA B3R 3,000 3,000
NAEZIEY HA B L 12,000 12,000
401 AlEHIZL 20| 50,000 50,000
01 Al&H| 50,000 50,000
1)3I=HI0D el =2 Hd| 50,000 50,000
232 29 110,750 110,750 0 190-191
Al 44,250 Al 44,250
2 66,500 = 66,500
307 SI2t01 & 110,750 110,750 0
Al 44,250 Al 44,250
- 66,500 = 66,500
02 SIHBAANHEE 29,000 29,000 0
1) 2L ESKIA 29,000 29,000
Al 21,750 Al 21,750
7 7,250 ™ 7,250
03 QIRIHHE2FYI B 30,000 30,000 0
AR=E0124| 30,000 30,000
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. = o &4 = HA (= =
2N - J . S(S) - HRAY - BES Ofl &boH 'OﬂﬁWE—.” RS2 | BA(EE) AR |l
Al 22,500 Al 22,500
3 7,500 = 7.500
04 QIZFEHALAIRI B = 47,750 47,750 0
Y RIESNPS| 47,750 47,750
05 SIZtRAEZ 4,000 4,000 0
2SN 224 &8s 39S 4,000 4,000
235l 29 927,148 678,009 249,049 192198
201 LBt AY| 50,700 300 50,400
01 AtR2elt] 10,700 300 10,400 | O==2E] Ol 2] S2=
_ M L OJAL I EHY
NLNISSEH 2R 2d =Y 700 300
NLN2SHEH 01X 28 S22 M 3,000
1)2AMSSHE OIAF HIS 7,000
03 A2 40,000 0 40,000 | OS2 JH2ta) 2 JHet
_ SESH HIZ A HY
N2AA20312 JH2HA 5,000
NEN20E2 o2 D18 S B89 35,000
203 JFF=&H| 2,700 2,700 0
03 AIF=XHSFAIY| 2,700 2,700 0
NLMIsHE 28 L 0|82 HRFA 2,700 2,700
207 A=1IHE| 120,000 0 120,000
02 ®ADHZH] 120,000 0|  120,000| O=lE&e] L 2AIBS
_ _ fIst EHOIK 2= HIZ2
NZNS0IE2 BHOIK 75 29 120,000 Al B
301 et Z 300 0 300
14 JIEI242 300 0 300 | O B2 AAS & BN
N2AMESSHIE 01& 24 (J1a)2M 2032 300
Szl Do AIMZ
307 212to1™ 753,448 675,099 78,349
05 SIZtRAEZ 753,448 675,099 78,349 | O20la/2 JH2t0l T2
oIl It BY S
NLN2SHHEH A2 753,448 675,099
2) 2124 485,703 407,354
2)&e|24| 141,445 90,945
2)Z2 )R] 54,300 2,800
2)2AE 72.000 174,000
2E Fts=ER32 29 10,560 10,560 0 %1%
201 et | 4,800 4,800 0
01 AtR2elt] 1,800 1,800 0
1) 23S 2IEE M 1,800 1,800
02 2224l 3,000 3,000 0
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A 2. o9(3) - HSAR - BE= 04 &t ot Ghe | umsz | masd) A (MR
)2AZ 2IAL 22828 AHEE IR 3 1,000 1,000
307 BI2H0| A 59,500 69,500 10,000
04 DIZFEHAIAIEE X 59,500 69,500 A10,000| OStHE &2 HAEIZ
_ ANHIZ2XZ 018r
DEBIISES-] 23,000 23,000
NESI| AEH 6.500 6,500
1)8t0iE &2l HIAEIY 30,000 30,000
NEECE=E 166,900 166,900 0 DB
201 Ugte 3,000 3,000 0
01 A2 3,000 3,000 0
NXSEH 3,000 3,000
203 Z2=& 9,900 9,900 0
03 A= 9,900 9,900 0
Nx = 9,900 9,900
154,000 154,000
154,000 154,000
154,000 154,000
395,250 395,250 0 26207
201 LBt29y| 80,250 80,250 0
01 AtR22lH] 5,250 5,250
NERALAS 22 ¢ 5,250 5,250
03 BAr2 Y| 75,000 75,000 0
NEEs & S 75,000 75,000
301 YBtEAZ 5,000 5,000
11 AR X 212 5,000 5,000 0
DESSPONE = 5,000 5,000
307 BI2t01 & 310,000 310,000 0
04 QIZISHAIAIE E X 310,000 310,000
1) CHEE AL 310,000 310,000
a0l =Al 37,000 37,000 0 820
201 LBr2| 34,000 34,000 0
03 BA2 2| 34,000 34,000 0
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- 47,000] 2 45,000
Al 35,250 Al 33,750
= 35,250 * 33,750
42,500
= 17,000
Al 12,750
= 12,750
LIHAIAE FR 2 14,000 14,000 0 218219
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Al 3,500 Al 3,500
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LTHAIAE S22+ 14,000 14,000
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ZNSFEN 29 70,000 70,000 0 222223
201 B2 %] 27,500 27,500 0
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7 25,000] ® 25,000
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1)O2l01ZR LA ZAIZ 19,200 19,200
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P 2R e
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01 Al 50,000 50,000 0
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405 KHaEE S| 2,000 1,000 1,000
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ENERE 10,069,310 9,407,819 661,491 2240
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i B O N2 AR S S
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2)SEEMSHIE 3,279,231 3,232,535
2) B S 23 MK HIH 1,156,406| 1,198,083
2)OF= AL =RIE R 664,642| 578,143
2)0t=g Z=4EH 3,150,191 3,139,983
2) I3 =X M 507,340 524,462
)Y S 139,378 128,013
2)2MUSEMSH 149,037 131,558
)=t SHMS 2 138, 125 123,021
2)LNUEHUSH 137,930 123,809
2)GEUIISHUSH 137,591
404 ENESHI=EES 519,439 228,212 291,227
01 SAt- SHAE2HES 519,439 208,212 291,207 | OB 2SN AE  HSH|
1AISRR2IZE CHRARIH] 519.430| 208,212 S
2) ST SHE 247,288 72,875
2) B S 23K HIH 8,910 8,000
2) D= A LI ERIE & 139,249 1,780
2)0F=e T =HIE 106,204 136,997
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- _ _ pPSIE]| _ =
CHB . O9(3]) - MR - BAS il &k e |2 | BaE) AR [P
405 KHHESH] 9,250 9,250 Ol et & x| ofl (2
01 XHIL 2B S| 9,250 9,250| DHOITTUIBIERS
1)0IQIAl Qkarst 0hol 3 ORIABRALSE&H
)= g 8,250 9] Ofei= AT IR
Naune 2s&x 1,000
ZHHSSEARXE ZHl X 115,185 115,185 RORCI%
= 115,185
201 YBt2 2| 114,185 114,185
= 114,185
01 At=R2t2ld| 114,185 114,185 | O HHI Z A M st 2 &H
o= o o BARA BEOR
NII=BAHSSAIRKE] BHIX 114,185 AREA
AREE oy 85,560 (SRR A0 HAD)
= 85,560
2)ABHSE QY| 19,504
= 19,504
2)HIZ 2 & 9,121
= 9,121
203 S2EZAIH| 1,000 1,000
= 1,000
03 AFTRALZXIY| 1,000 1,000| ONFLHS SALL
e Al on . Helof e e
1)IIE2AHSEA2X ] Bl K& 1,000 =H| AFEA
= 1,000
MY A2 A3 425,304 360,683 64,641
=2 ¥8 =gl 2Y 425,324 360,683 64,641 B34
201 LBt A 261,180 260, 180 1,000
IREEET 261,180 260, 180 1,000
nNegag 3,780 3,780
2)HE N BRINAIOF 3,500 3,500
2)J|=22EIIAl05] 280 280
)12 A=SE9H| 2,800 2,800
1)etesks)| SEDHHI 1,800 1,800
1)&2e85)| SAI24H| 1,800 1,800
)8R JIE2 Mt & Z2UHES Al 250,000 250,000
NAIREZ o1y 1.000 O JIZEU2H ANREE
’ 2olH| =M
203 I2EXIH| 3,000 3,000 0
03 AlZHERIQIR=XIH| 3,000 3,000
=g 38 sz 29 ge=X 3,000 3,000
308 AXISHHIS0IA 161,144 97,503 63,641
07 KXICHHIRrR e 2 161,144 97,503 63,641
1NESDISS2CINAE SRE4 13,509 14,030
NAERIX AREY 70 645 OJl=22 2= AH
’ Sto= oI5t AIDEA
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S EB SRS - MITAIY - BAS Off aron Ghe | umsz | masd) A (MR
DEIENE 68,510 68,961
NEMSN & 6.480 0 OCtest a8t N
BEUANE EMESS
st HIE AREHA
HE2AAH|(DIZ0AL) 390,276 437,803  ~47,527
2 54,220 2 54,551
2 336,056 7 383,252
JI=Z| 114,120 165,960  A51,840
BIEET] 114,120 165,960|  ~51,840 3636
201 LBt2y| 68,280 79.800| 211,520
01 AlR22lH] 67,080 78,600 A11,520| O=lg Zaky
1)JI2HREX 2| 46,080 57,600 jfmitg% gt
NAIREZ L #™AH ADE 20 21,000 21,000
02 2Z29Y| 1,200 1,200 0
1)ZRX(RI|HQF) H2AH 1,200 1,200
202 Oit| 40,320 80,640 40,320
01 =0l 40,320 80,640| 40,320 OXIR 0fH| ZAr= oM
ZD5EH0Y 2o
1)J1=2 240 40,320 80,640
203 AP EZI| 4,800 4,800
AR EES 4,800 4,800 0
NENSE IR 4,800 4,800
303 a2 720 720 0
01 Zal2 720 720
1RLE(RI|H ) =25 720 720
2) M erz) 160 160
2)MA=512 200 200
2)HE, 22X & JI9E| 360 380
REEET 276,156 271,843 4,313
2 54,220 2 54,551
2 221,936 | 7 217,292
REEETT 276,156 271,843 4,313 0r~-38
= 54,2202 54,551
2 221,936 | 7 217,09
101 Q12| 245,214 242 005 3,209
= 54,2202 54,551
2 190,994 | 7 187,454
03 SRE(PINH) 222+ 245,214 242,005 3,200 Ozex =230
1)BIRABEXR0I2 OIAHH| 245214 242,005 BHAO ([HE SNH
2)0123 196,987 194,379
2 54,220(=2 54,551
2 142,767| 7 139,828
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